
Assembly Instructions

© 2017

LCC-165 Picnic Table With Attached Bench

Step 1
Lay top (A) upside down on a soft surface and attach 
legs (B) with (8) 5/16” x 3 1/2” carriage bolts and (8) 
5/16” flange nuts.

Step 2
Fasten brace (C) where shown with (8) 2 1/2” screws. 
Repeat this step with brace on other side.

Required Tools:
- Hammer
- 1/2" Wrench or Socket
- #2 Square Drive bit
- Cordless Drill

Hardware:
- �(8) 5/16" x 3 1/2" Carriage 

Bolts      
- (8) 5/16” Flange Nuts
- (16) 2 1/2" Screws

Step 1
Lay top (A) upside down on a soft surface and attach 
legs (B) with (8) 5/16” x 3 1/2” carriage bolts and (8) 
5/16” flange nuts.

Step 2
Fasten brace (C) where shown with (8) 2 1/2” screws.

A

D

B B

C



Assembly Instructions

© 2017

LCC-165 Picnic Table With Attached Bench

www.wildridge.com
330-893-4212

Step 1
Lay top (A) upside down on a soft surface and attach 
legs (B) with (8) 5/16” x 3 1/2” carriage bolts and (8) 
5/16” flange nuts.

Step 2
Fasten brace (C) where shown with (8) 2 1/2” screws.

Step 3
Place seats (D) in notch and fasten with (8) 2 1/2” 
screws.

Complete


